DCF-213J(20. 07)

V1

YOVELLNS J
(CON_HNIMVYQ) =5 E X

Ty £AA o o EE QR N m | % B & 3R
VER. DATE : DESCRIPTION DR. CHK. APPD. APPD.
2 16/JUL/2021 040760 BILINGUAL DRAW MAKING — K. KAJTHARA T. TAKESHITA E. MATSUMOTO

B 2021/07/16 |

G (100
LEVER STOPPER
| FIXING SCREW (M2.5)
— L/INA—R b yis—
i B At L (M2. 5)
| |
K_IF‘ Jf_
i
|
|
B |
CLAMP PART DIMENSIONS P
L CLAMP SADDLE \, &
NI (i FIXING SCREW (M3) /
' Y5 TH R
EE A4 C (M3)
/
' | KEY FIXING SCREW (M2.5) (B
) F—EEMAt L M2.5) .\ /)
.
N@ [ :
H ! N \
CK\EZ ! x / ‘
4 ! Oz - g
|
' 12.9 =£0.4 #16 SOCKET CONTACT (NOTE2) (15) 77.2 +0.4 i S
19.5 +0.4 é*%%iagglw
_ GROUND BAR ERARL
C| SECTION A-A FIXING SCREW (M3)
552 F/N—
B At L (M3)
e 71 :0000000000DDD-
A J/ T { N % )eeeee @eeee:(:}z T A A
=L, 0000000000 OO0=
— "'”” ”. = ”mb% y,
NOTE 1.PART NUMBER, COMPANY LOGO “JAE”. AND LOT NUMBER ARE MARKED ON THIS SIDE
2. SOCKET CONTACTS ARE SOLD SEPARATELY.
REFER TO “JAHL-30290" FOR APPLICABLE SOCKET CONTACTS.
CONTACT SIZE - #16
NUMBER OF CONTACTS : 40
; } 12 [SEMS SCREW (M3) 1 |STEEL NICKEL PLATING
3. REFER TO “JACS-30290” FOR CONNECTOR SPECIFICATIONS.
11 |GROUND BAR 1 |STEEL NICKEL PLATING
* ] — (v :I:I N &1l ‘g: " = ,—\
. BROURICHE. HARUNED Y FESERTT 5. 10 [SOCKET INSULATOR 1 |SYNTHETIC RESIN —
2.4y kavAa Y FIRIFERTT, ERRONEQUS MATING
BE&VAry bavAY R=DNTiE. TJAHL-30290] £BML T < &0, 9 |PREVENTIVE_KEY (SOCKET) 2 |COPPER ALLOY NICKEL PLATING
- >g 5 llzﬂ;rx‘ : % 6 8 |SEMS SCREW (M2.5) 5 |STEEL NICKEL PLATING
o o :
~537 FBH * 7 |LEVER 1 |STAINLESS STEEL —
3. 3T ZHMRISONTIE, TJACS-302901 &ZML TS, 6 |LEVER STOPPER 1 |coPPER ALLOY NICKEL PLATING
5 |SEMS SCREW (M3) 9 |STEEL NICKEL PLATING
SECTION C-C
4 |JUNCTION SHELL #1 1 |STEEL NICKEL PLATING
3 |JUNGTION SHELL #2 1 |STEEL NICKEL PLATING
2 |LATCH RIVET 2 |STAINLESS STEEL —
1 |CLAMP SADDLE 1 |STEEL NICKEL PLATING
e % R B % # ¥ T i =
NO. DESCRIPTION QTY. MATERIAL FINISH REMARKS
{L£4%= (SPECIFICATION) 1k (ORIGINAL DATE) R (SCALE) 1) =X (SERIES)
ﬁﬁ%%S T 28/N0V/2012 1:1 QE6 BAMZEFIEHARH ||
- —_ <C
— o ERTITD JAPAN AVIATION |
%43 3= (GENERAL TOLERANCE) ngk_L-. T TAKESHITA (“\ ELECTRONICS w
ik QUIENSION) | A ANGLES) [ AR IoAA QE6E040SLO1 QZ{AE,E INDUSTRY, LTD. «
. o apPD. | ™ ‘
X = XoX" = // K2 | £ NATSUNOTO Mm-S (DRAWING NO.) e
R Bgg ONIT) | 7 P OHEET N0 T D=1 SJ113464 2
1 2 5 6 7 8 | 9 10 | 11 S/

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
10 20 30 40 0

JAE Connector DIV. Proprietary. Copyright(C) 2012, Japan Aviation Electronics Industry, LTD.

[WISDOM#



